FEHRBRE—BX -

PEET XS 7S R3827 EET_

INEERSE V- EenFBESE &

EXIEIS I%?BE%DD% i2

ERBETHIEEBDDE=E

—

FE3MR7 YT 2 VIR T

B4R T 2 VIR T

| T/NRR— 5088

BARZEFEDERE 2R

OS]

EZ lg?rﬁb ﬁﬂi 3%&

N
—

%$§$E®ﬁ< DIVTRAE W15

BA= (BXTS) N
SREEDIINIVFTAE HiB
BARE (BFOESHEYD AE
SREEDINIVFTAE HiE 1
EAXE (KM AE
SREEDINIVFTAE HiB 2
EX= CAIEEEPT) AE

SREEDDLNIVT AL Hig

BRAE (EFOISHET) AE

SREEDIO<DIVFTRAE HiF

BERA= (AN AE
SREEDI<NDIVFRAE HiE
BRAZ= CRISIEIPD AE

EE2 28 H20 [ H30 R2 [ o | =
S ERMIR g 1R o 0 7 0 o 2 o) 3
HERMRERR 2R 8 10 12| 12 7 8 o 57
SHERREREE 3R 227 200| 233 214 224 203 o| 1321
BRIRMIREREE 2R (C=5D) 43 14| 14] 60| 38| 23 o 192
IBMZIMIEETER SR FBASIC) 52| 76/ 60 82| 62/ 90 o| 422
[BBRFBIMIETEREE MWC=3D) 116/ 106/ 109| 88 68 79 o| 566
RGBT R 0 1 0 0 0 0 0 1
JN DVRIBRMEERER 26k 9 6 3 0 9 1 o 2s
/N DVRIBRMEEREE Sk 18 622 17 715 ol  ss5
et 2 4 0 6 0 0 6] 18
et 0 3 27 14 0 7 o] 5t
BRMELS P 1 0 1
BIRMEES ZBE1% 7 6 6 3 2 3 1 28
BREMEURE ZEHE2% 8 1 5 4 1 4 ol 23
BIRMEURE ZiEHE3% 11 1 8 2 0 1 o 25
BIRMEURE ZiEFE4%8 51| 24| 41 111 22| 51| 10| 210
BIRMEURS ZiEHE5% 4 3 7 5 1 3 1 24
BIRMEURE ZiEFE6%E 4 8 5 1 1 1 o 22
BIRMEIRE Kis 1 o) 1
™ > —Eras 78 _106| 78| 57| 103 82| 78| 582
—8RA > — T 6 0 0 0 0 0 o) 6
A S—R Tt 56| 52 40 o 18 3f ol 206
e G D) 12 5 11 7 3 6 o 46
RASRESRIEHNT (YT Y I - - - - - - 10| 10
REERESMIMIIEE (ImREIrE) - - - - - - 3 3
RAES TSR BT HESSHATT T . . . 14 11 ol 25
NRBEREEE 64 52 52| 78] 45 7 80| 446
o I 10] 19| 15| 16| 13 o 77
E_BESIST 126|127, _108| 117/ 115 _ 8 ol 674
BETH 0 0 2 2 2 o) 7
TR A ) 2 2 0 0 3 o 11
DT AL T SR MIEE (FPRRaR) 3 3 613 8 12|49
BlshIRnE 0 0 0 0 0 o) 0
RERTERAL (ALISEE) 2% 0 0 0 0 0 0 0
REERTERAL (AT TSEE) 38 0 11 4 6 3 o33
REERTRENE (RIFIE) Ol - - - - - 0 0
REERTREEE (RIFIE) 3R - - - - - 0 2
LYY TRAERE 2R 0 0 0 0 0 o) 0
LY VT RAERTE SR 8 4 0 0 0 o__12
BECADRTHAR 2k 0 0 0 0 1 0 1
BECADRTEHR 34k 11 10 0 4 8 ol 38
N SRR BGEOER RaoBREE | 105 87 82 657 50 7 o452
AN S5 3R - - - - - 0
B|AMZ RS ERERA B - - - - - o)

o)

o)

o)

o)

2

1

1

3

)

o)

o)

o)

o)

o)

o)

o)

o)

o)

o)

0

)

o)

o)

3

= [o][o] ][] ][] e]e)c]e)e]e]e]e]e] @] e]e]e]e]e]e][Ge] = Cie] @] (@] |\v] @] ][] @] LT\ =t 0] [©)

~|O | O|O|Of= |~ |W|O[O|O[=|N[O|O|O|0 |IO|— |~ O|JWw 0|0
O|W | W|O|=[O|O|W|OO|™[O|O=IN[= N INININ | =00 | = |O
O1]O | O|O|OO|O|O|OO|~[O|O= N[O N|=|O 0|0 0|0
=10 0|0|O[0|O|0|O[O|» O]~ [=IN|O|O) 0= = O|!110|O
OO |O|O|O|O|O|0|OO|N|O|O|=N|O|= | [O|IOININ OO
=W WO === OO B[ WA [0 |O OO W0 | = | O|W O

st 1057 102

©
ﬂ
©
(OV)
03]
i
0]
0]

233 595




